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Rational Number Worksheet - 2 

1 . 
ିଷ

଼
 × 0 = _____.  

a) 10 
ଷ

ହ
        b) 12 

ଷ

ହ
 

c) 11 
ଷ

ହ
        d) 0 

2. 
ଶ

ଷ
 × 

ହ

଻
 = _____. 

a)  
ଷ

ହ
        b)  

଼

ହ
 

c)  
ଵ଴

ଶଵ
        d) None of these 

3. Find the additive inverse of -9? 

a) 10 
ଷ

ହ
        b) 12 

c) 9        d) None of these 

4. The sum of two rational number is  
ିଷ

଼
 . If one number is 

ଷ

ଵ଺
 , then find the other one. 

a) 10 
ଷ

ହ
        b)  

ିଷ

ଵ଺
 

c) 11 
ଷ

ହ
        d) None of these 

5. What should be added to 
ିହ

଻
 to get 

ଶ

ଷ
 ? 

a)  
ିଵଽ

ଶଵ
        b)  

ଷ

ହ
 

c)  
଺

଼ହ
        d) None of these 

6. The product of two rational number is 10. If one of the numbers is -8, then find the other. 

a) 
ିହ

ସ
        b) 

ଵଷ

ଵ଴
 

c) 
଻

ଵ଴଴
        d) 

ହ

ଽ
  

7. By what number should 
ିସସ

ଽ
 be divided to get 

ିଵଵ

ଷ
? 
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a) 
ଶଽ

ଶ଴
        b) 

ଷ

ସ
 

c) 
ଷଷ

ସସ
        d) 

ହଽ

଼ଽ
  

8. Find the multiplicative inverse of 
ଵଷ

ଶହ
? 

a) 
ଶହ

ଵଷ
        b) 

ଵଷ

ଶଷ
 

c) 
଺଼

ଵଶହ
        d) 

ସହ

ଽ
  

9. What is the reciprocal of 1? 

a) 1        b) -1 

c) 0        d) 11  

10. What is the reciprocal of -1 ? 

a) 1        b) -1 

c) 0        d) 11  

11. Simplify _____ ÷ 
ଶ

ଷ
 = 

଻

ଵ଴
 

a) 
ଶଵ

ଶ଴
        b) 

ଷ

ଶ଴
 

c) 
଼

ଵହ
        d) 

ସ଴

ଽ
  

12. –2 
ଵ

ଽ
 – 6 = _____. 

a) 
ି଻ଷ

ଽ
        b) 

ିଷ

ସଷ
 

c) 
଼

ଵ଻
        d) 

ହ

଼
  

13. Find the cost of 3metres of cloth at rupees 40 
ଵ

ଶ
 per meter? 

a) 10        b) 121.5 

c) 40        d) 5  

14. A bike is moving at an average speed of 
଺

ହ
 km/h. How much distance it will cover in 

ହ

ଶ
 hour? 

a) 3        b) 0 
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c)  12                                                                                                      d) 1  

15. Simplify (ିଵ

଻
 × 

ିଵସ

ଶ଻
) – (– 

଼ 

ସହ
 × 

ଽ

ଵ଺
). 

a) 
ସ଻

ଶ଻଴
        b) 

ହହ

ସହ଴
 

c) 
଺

ଵହ
        d) 

଻ଽ

ସ଻଼
  

16. 
ହ

ଽ
 ____ 

ିଷ

ି଼
 . 

a) >                           b) =  

c)        <                  d)  None of these 

17. Find the sum 
ିହ

ଽ
 + 

ିସ

ହ
 . 

a) 
ିଵ଻

ଶହ
        b) 

ଵହ

ଷ଺
 

c) 
ି଺ଵ

ସହ
        d) 

ଽ

଼ଽ
  

18. Subtract 
ଶ

ଷ
 from 

ସ

ଽ
 . 

a) 
ିଶ

ଽ
        b) 

ହ

ସ
 

c) 14        d) 12  

19. 
ଷ

ସ
 = 

?

ିଶସ
 . 

a) -18        b) ̶ 10 

c) 23        d) 2  

20. 2 
ଵ

ଷ
 + 4 

ଷ

ହ
 = _____. 

a) 
ଵଷ

ଷହ
        b) 

ଷ

ସ
 

c) 
ସ

ଶହ
        d) 

ଵ଴ସ

ଵହ
  

 


